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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

#1

s K75

v Q954

¢ T8

& KT54
®dI+VAN

& AK5

v A9

¢ AJ75

& A854
VAN

NS: #RBCE ZI3c#z(GHO) -14 8 NS: #mE EEE(BAC) 22 0.63 19.37| Total VP: 70.50 Rank:
EW: BEEISZ FREIEAC) -22 EW: MEE E£ERA(BO) 14 IMP:| 6 43 7
I
» QT932 3NW3 -400 Mean: 2SS2 110 7.0 1 [[#2 » K852 3NS-2-200 Mean: 3CE-3 150 6.0 1
¢T3 2DE4 -130 -190  2SN2 110 7.0 1 v Q752 4HS-4 -400 -100  3DXE-1 100 50 1
.97 Dif: -270 NS:-5 3SS-1 -50 40 1 *2 Dif: 200 NS:-3 2HS2 110 50 1
» J963 IMP: -7 EW:-2 3SN-2 4100 3.0 1 & AQ63 IMP: 5 EW:7 2DE-2 100 50 1
s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
* KQJ532 2NW3 150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
~ A87 3NW3 400 50 1 ||asT9 » K542 2DE2 90 00 2
» J86 3NE3 400 50 1 * VAN QT 3NS-2 200 -3.0 1
v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
« A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
» Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
w ~~~~~
a4 4SW4 -620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5CXN6 950 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1100 -370 4SE-1 100 100 1 v JT2 6CXS6 1540 320  5CXN6 950 12.0 1
¢ JT543 Dif: -720 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: -590 NS:12 5SXS5 850 11.0 1
& 852 IMP: -12 EW:-10 3HXS-2 300 20 1 & 9542 IMP: -11 EW:-15 5SS5 650 8.0 1
~ QJ983 4SW4 620 -60 5 ~ Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 *9
& AQ3 & AKQT83
& K76532 4HE-1 50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 2SN4 170 Mean: 4SXN4 590 80 1
v Q84 4HE-150 -80  4HE- 50 40 9 v 7542 2SN3 140 230 4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: 30 NS:-2 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: 1 EW:3 2SN4 170 2.0 1
» 98 # 9764 'y 2SN3 140 3.0 3
v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ 42 * KQJ95 ¢ T64
» KQ87 » 54 & KJ832
s QT4 ¢ VABN 4, AT2
v2 N ~~~~~ v Q9
¢ AT973 S ~~~~~ ¢ 72
& T954 E ~~~~~ & AQT976
w ~~~~~
a JT7 6DE6 -1370 Mean: 6DW-1 100 120 2 ||#38 » QT6 3SS-1-50 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE6 -1370 -630  6DE-1 100 120 3 v AQ82 5CXE-4800 0 3NS3 400 9.0 1
*8 Dif: 0 NS:-12 5DE5 600 1.0 1 ¢ AJ9752 Dif: -850 NS:-2 3SS-1 50 20 1
& KJ73 IMP: 0 EW:12 3NW3 600 1.0 1 & IMP: -13 EW:-13 3NS-1 50 20 1
a3 5DE6 620 0.0 1 ||a KJ943 a8 2SN-1 50 20 1
+ v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
* KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
S » Q9 » K973 » JT842 3NS-2 4100 30 5
» Q98642 %o VAN 4, A752 3NS-3 150 -4.0 2
w7 N ~~~~~ v J94
¢ Q42 S ~~~~~ ¢ 43
& T62 E ~~~~~ & AQ65
W ~~~~ ~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3: 10 f¥35(87.54)

#1

s K75

v Q954

¢ T8

& KT54
®dI+VAN

& AK5

v A9

¢ AJ75

& A854
VAN

NS: SRAHE Z=$EER(EHO) -16 1 O NS: R25h- REE(BAC) 8 5.04 14.96 | Total VP: 75.41 Rank:
EW: M BUE S5EEEAC) -8 EW: 2553 It E(BAO) 16 IMP:| 13 27 4
I
» QT932 3DE4 -130 Mean: 2SS2 110 7.0 1 [[#2 » K852 2SW2 -110 Mean: 3CE-3 150 6.0 1
¢T3 2DE4 -130 -190  2SN2 110 7.0 1 v Q752 3DE3 -110 -100  3DXE-1 100 50 1
.97 Dif: 0 NS:2 3SS-1 -50 40 1 *2 Dif: 0 NS:0 2HS2 110 50 1
» J963 IMP: 0 EW:-2 3SN-2 4100 3.0 1 & AQ63 IMP: 0 EW:0 2DE-2 100 50 1
s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
* KQJ532 2NW3 150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
~ A87 3NW3 400 50 1 ||asT9 » K542 2DE2 90 00 2
» J86 3NE3 400 50 1 * VAN QT 3NS-2 200 -3.0 1
v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
« A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
» Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
w ~~~~~
a4 4SE4 -620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5HW-1 100 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1100 -370 4SE-1 100 100 1 v JT2 5HE5 -650 320  5CXN6 950 12.0 1
¢ JT543 Dif: -720 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: 750 NS:-6 5SXS5 850 11.0 1
& 852 IMP: -12 EW:-10 3HXS-2 300 20 1 & 9542 IMP: 13 EW:14 5SS5 650 8.0 1
~ QJ983 4SW4 620 -60 5 ~ Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 *9
& AQ3 & AKQT83
& K76532 4HW4 -420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN-1 -50 Mean: 4SXN4 590 80 1
v Q84 4HE-150 -80  4HE- 50 40 9 v 7542 2SN3 140 230 4SN4 420 50 5
+ K6 Dif: -470 NS:-8 4HWA4 420 -80 1 + A83 Dif: -190 NS:-7 3SN4 170 2.0 1
»J2 IMP: -10 EW:-4 4HE4 420 -80 3 * IMP: -5 EW:3 2SN4 170 2.0 1
» 98 # 9764 'y 2SN3 140 3.0 3
v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ 42 * KQJ95 ¢ T64
» KQ87 » 54 & KJ832
s QT4 ¢ VABN 4, AT2
v2 N ~~~~~ v Q9
¢ AT973 S ~~~~~ ¢ 72
& T954 E ~~~~~ & AQT976
w ~~~~~
a JT7 6DW-1 100 Mean: 6DW-1 100 120 2 ||#38 » QT6 3NS-2-100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1100 -630 6DE-1 100 120 3 v AQ82 4SS-2-100 o0 3NS3 400 9.0 1
*8 Dif: 0 NS:12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 0 NS:-3 3SS-1 50 20 1
& KJ73 IMP: 0 EW:-12 3NW3 600 1.0 1 * IMP: 0 EW:3 3NS-1 50 20 1
a3 5DE6 620 0.0 1 ||a KJ943 a8 2SN-1 50 20 1
+ v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
* KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
S » Q9 » K973 » JT842 3NS-2 4100 30 5
» Q98642 %o VAN 4, A752 3NS-3 150 -4.0 2
w7 N ~~~~~ v J94
¢ Q42 S ~~~~~ ¢ 43
& T62 E ~~~~~ & AQ65
W ~~~~ ~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

3 NS: PRI 822 GHO) 28 9 NS: BR#R 2L H(BAC) -33 P:| 20.00 : 0.00 | Total VP: 74.34 Rank:
EW: HRELNE FRIEEEAC) 33 EW: EEBNE Bk =(BAO) -2 IMP:| 57 12 5
I I
#1 » QT932 3SN-2 -100 Mean: 2SS2 110 7.0 1 [[#2 » K852 3NN-1-100 Mean: 3CE-3 150 6.0 1
¢T3 3NE3 -400 -190 2SN2 110 7.0 1 v Q752 3DE3 -110 -100  3DXE-1 100 50 1
.97 Dif: 300 NS:3 3SS-1 -50 40 1 *2 Dif: 10 NS:0 2HS2 110 50 1
» J963 IMP: 7 EW:5 3SN-2 4100 3.0 1 » AQ63 IMP: 0 EW:0 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 450 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4HXS-2 -300 Mean: 4SW-1 100 100 3 ||# 4 s A8 6CXS6 1540 Mean: 6CXS6 1540 150 2
v QJ65 4SE5 -650 -370  4SE-1 100 100 1 v JT2 4HE5 -650 320  5CXN6 950 12.0 1
¢ JT543 Dif: 350 NS:2 4HXS-2 300 20 1 ¢ 6532 Dif: 2190 NS:15 5SXS5 850 11.0 1
& 852 IMP: 8 EW:7 3HXS-2 300 20 1 & 9542 IMP: 19 EW:14 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE-1 50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN4 420 Mean: 4SXN4 590 80 1
v Q84 4HE4 -420 80  4HE-1 50 40 9 v 7542 4SN-1-50 230 4SN4 420 50 5
+ K6 Dif: 470 NS:4 4HW4 420 -80 1 + A83 Dif: 470 NS:5 3SN4 170 2.0 1
»J2 IMP: 10 EW:8 4HE4 420 -80 3 * IMP: 10 EW:7 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 3NW3 -600 Mean: 6DW-1 100 120 2 ||#38 » QT6 3NS-1-50 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1100 -630 6DE-1 100 120 3 v AQ82 3NS-3-150 0 3NS3 400 9.0 1
+8 Dif: -700 NS:1 5DE5 600 1.0 1 ¢ AJ9752 Dif: 100 NS:-2 3SS-1 50 20 1
& KJ73 IMP: -12 EW:-12 3NW3 600 1.0 1 * IMP: 3 EW:4 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~ ~~~~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3: 10 f¥35(87.54)

4 NS: £Z#5% EiE4GHO) 14 1 1 NS: 5 BREE(BAC) 27 6.88 13.12| Total VP: 59.88 Rank:
EW: E1{&{& sHEEEIC) -27 EW: HEH MZEE((BRO) -1 IMP:| 20 : 28 10
I I
#1 » QT932 2SN2 110 Mean: 2SS2 110 7.0 1 [[#2 » K852 3DXE-1 100 Mean: 3CE-3 150 6.0 1
¢T3 2SS2 110 -190  2SN2 110 7.0 1 v Q752 2DE2 -90 -100  3DXE-1 100 50 1
.97 Dif: 0 NS:7 3SS-1 -50 40 1 *2 Dif: 190 NS:5 2HS2 110 50 1
» J963 IMP: 0 EW:-7 3SN-2 4100 3.0 1 » AQ63 IMP: 5 EW:0 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 450 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ * Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 3HXS-2 -300 Mean: 4SW-1 100 100 3 ||# 4 s A8 5SXS5 850 Mean: 6CXS6 1540 150 2
v QJ65 4SE4 -620 -370  4SE-1 100 100 1 v JT2 5885650 320 5CXN6 950 12.0 1
¢ JT543 Dif: 320 NS:2 4HXS-2 300 20 1 ¢ 6532 Dif: 200 NS:11 5SXS5 850 11.0 1
& 852 IMP: 8 EW:6 3HXS-2 300 20 1 & 9542 IMP: 5 EW:-8 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE4 -420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 3SN4 170 Mean: 4SXN4 590 80 1
v Q84 4HE-150 -80  4HE- 50 40 9 v 7542 4SN4 420 230 4SN4 420 50 5
+ K6 Dif: -470 NS:-8 4HWA4 420 -80 1 + A83 Dif: -250 NS:-2 3SN4 170 2.0 1
»J2 IMP: -10 EW:-4 4HE4 420 -80 3 * IMP: -6 EW:-5 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 5DE5 -600 Mean: 6DW-1 100 120 2 [|#8 » QT6 2SN-1-50 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1100 -630 6DE-1 100 120 3 v AQ82 3NS-2-100 © 3NS3 400 9.0 1
+8 Dif: -700 NS:1 5DE5 600 1.0 1 ¢ AJ9752 Dif: 50 NS:-2 3SS-1 50 20 1
& KJ73 IMP: -12 EW:-12 3NW3 600 1.0 1 * IMP: 2 EW:3 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

5 NS: 82 BREFGHO) -41 1 3 NS: 25T 2% (BAC) 10 0.26 19.74| Total VP: 54.44 Rank:
EW: BEEE: 12 {21&EHC) -10 EW: EZE M 3L7IIE(BO) 41 IMP:| 7 a7 13
I I
#1 » QT932 3NW4 -430 Mean: 2SS2 110 7.0 1 [[#2 » K852 4HN-3 -300 Mean: 3CE-3 150 6.0 1
¢T3 3NW4 -430 -190  2SN2 110 7.0 1 v Q752 3CE-3150 -100  3DXE-1 100 50 1
.97 Dif: 0 NS:-6 3SS-1 -50 40 1 *2 Dif: -450 NS:-5 2HS2 110 50 1
» J963 IMP: 0 EW:6 3SN-2 4100 3.0 1 » AQ63 IMP: -10 EW:-6 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 4150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4SW4 -620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5HW-1 100 Mean: 6CXS6 1540 150 2
v QJ65 4SW4 -620 -370  4SE-1 100 100 1 v JT2 5HW-1 100 320 5CXN6 950 12.0 1
¢ JT543 Dif: 0 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: 0 NS:-6 5SXS5 850 11.0 1
& 852 IMP: 0 EW:6 3HXS-2 300 20 1 & 9542 IMP: 0 EW:6 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE4 -420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN4 420 Mean: 4SXN4 590 80 1
v Q84 4HE-150 -80  4HE- 50 40 9 v 7542 2SN3 140 230 4SN4 420 50 5
+ K6 Dif: -470 NS:-8 4HWA4 420 -80 1 + A83 Dif: 280 NS:5 3SN4 170 2.0 1
»J2 IMP: -10 EW:-4 4HE4 420 -80 3 * IMP: 7 EW:3 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
* VAN 4,QT4 B+ VAN 4 AT2
N ~~~~~ v2 N ~~~~~ v Q9
S ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ & AQT976
W ~~~~~ W ~~~~~
#7 a JT7 6DE6 -1370 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-2-100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DW-1 100 -630 6DE-1 100 120 3 v AQ82 3NS3400 o0 3NS3 400 9.0 1
+8 Dif: -1470 NS:-12 5DE5 600 1.0 1 ¢ AJ9752 Dif: -500 NS:-3 3SS-1 50 20 1
& KJ73 IMP: -16 EW:-12 3NW3 600 1.0 1 & IMP: -11 EW:-9 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~




112 F< 4 >2FMpERF SR
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

6 NS: BRE Sz BEIEHGHO) -17 1 2 NS: #B{E3E #FE(BAC) -1 6.88 13.12| Total VP: 54.93 Rank:
EW: Bk B EAC) 1 EW: Z25Ei8 2154 7K(BAO) 17 IMP:| 18 26 12
I I —
#1 » QT932 3NW4 -430 Mean: 2SS2 110 7.0 1 [[#2 » K852 2DE2 -90 Mean: 3CE-3 150 6.0 1
¢T3 3SS-1-50 -190  2SN2 110 7.0 1 v Q752 2DE-2100 -100  3DXE-1 100 50 1
.97 Dif: -380 NS:-6 3SS-1 -50 40 1 *2 Dif: -190 NS:0 2HS2 110 50 1
» J963 IMP: -9 EW:-4 3SN-2 4100 3.0 1 » AQ63 IMP: -5 EW:-5 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 4150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4SW4 -620 Mean: 4SW-1 100 100 3 ||# 4 s A8 4HWS5 -650 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1100 -370 4SE-1 100 100 1 v JT2 5HE5 -650 320  5CXN6 950 12.0 1
¢ JT543 Dif: -720 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: 0 NS:-14 5SXS5 850 11.0 1
& 852 IMP: -12 EW:-10 3HXS-2 300 20 1 & 9542 IMP: 0 EW:14 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE-1 50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SXN4 590 Mean: 4SXN4 590 80 1
v Q84 4HW-150 -80  4HE- 50 40 9 v 7542 4SN4 420 230 4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: 170 NS:8 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: 5 EW:-5 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 5DE6 -620 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-2-100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE6 -1370 -630  6DE-1 100 120 3 v AQ82 4NS-2-100 © 3NS3 400 9.0 1
*8 Dif: 750 NS:0 5DE5 600 1.0 1 ¢ AJ9752 Dif: 0 NS:-3 3SS-1 50 20 1
& KJ73 IMP: 13 EW:12 3NW3 600 1.0 1 * IMP: 0 EW:3 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~




112 F< 4 >2FMpERF SR

® ==> RT

4

#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

#1

s K75

v Q954

¢ T8

& KT54
®dI+VAN

& AK5

v A9

¢ AJ75

& A854
VAN

NS: BRfftE RiEmEGEO) 7 14 NS: ZBigsl BRER(BAC) -3 12.05 : 7.95 Total VP: 56.81 Rank:
EW: BESR$E = FEA0) 3 EW: 5H#HE ZHE(BO) -7| IMP:| 27 22 1
I
» QT932 2DE4 -130 Mean: 2SS2 110 7.0 1 [[#2 » K852 2HS2 110 Mean: 3CE-3 150 6.0 1
¢T3 2NW3 -150 -190  2SN2 110 7.0 1 v Q752 3DXE3 -470 -100  3DXE-1 100 50 1
.97 Dif: 20 NS:2 3SS-1 -50 40 1 *2 Dif: 580 NS:5 2HS2 110 50 1
» J963 IMP: 1 EW:-1  3SN-2 4100 3.0 1 & AQ63 IMP: 11 EW:9 2DE-2 100 50 1
s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
* KQJ532 2NW3 150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
~ A87 3NW3 400 50 1 ||asT9 » K542 2DE2 90 00 2
» J86 3NE3 400 50 1 * VAN QT 3NS-2 200 -3.0 1
v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
« A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
» Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
w ~~~~~
a4 4SE-1100 Mean: 4SW-1 100 100 3 ||# 4 s A8 4SS5 650 Mean: 6CXS6 1540 150 2
v QJ65 4SW4 -620 -370  4SE-1 100 100 1 v JT2 5CN6 620 320 5CXN6 950 12.0 1
¢ JT543 Dif: 720 NS:10 4HXS-2 300 20 1 ¢ 6532 Dif: 30 NS:8 5SXS5 850 11.0 1
& 852 IMP: 12 EW:6 3HXS-2 300 20 1 & 9542 IMP: 1 EW:-7 58S5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 *9
& AQ3 & AKQT83
& K76532 4HE-1 50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN-1 -50 Mean: 4SXN4 590 80 1
v Q84 4HE-150 -80  4HE- 50 40 9 v 7542 4SN4 420 230 4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: -470 NS:-7 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: -10 EW:-5 2SN4 170 2.0 1
» 98 # 9764 'y 2SN3 140 3.0 3
v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ 42 * KQJ95 ¢ T64
» KQ87 » 54 & KJ832
s QT4 ¢ VABN 4, AT2
v2 N ~~~~~ v Q9
¢ AT973 S ~~~~~ ¢ 72
& T954 E ~~~~~ & AQT976
w ~~~~~
a JT7 6DE6 -1370 Mean: 6DW-1 100 120 2 ||#38 » QT6 3NS-2-100 Mean: 5CXE-4 800 13.0 1
v Q8632 4HWS5 -650 -630  6DE-1 100 120 3 v AQ82 3NS-3-150 0 3NS3 400 9.0 1
*8 Dif: -720 NS:-12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 50 NS:-3 3SS-1 50 20 1
& KJ73 IMP: -12 EW:1 3NW3 600 1.0 1 * IMP: 2 EW:4 3NS-1 50 20 1
a3 5DE6 620 0.0 1 ||a KJ943 a8 2SN-1 50 20 1
+ v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
* KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
S » Q9 » K973 » JT842 3NS-2 4100 30 5
» Q98642 %o VAN 4, A752 3NS-3 150 -4.0 2
w7 N ~~~~~ v J94
¢ Q42 S ~~~~~ ¢ 43
& T62 E ~~~~~ & AQ65
W ~~~ ~ ~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

#1

s K75

v Q954

¢ T8

& KT54
®dI+VAN

& AK5

v A9

¢ AJ75

& A854
VAN

NS: 3 E EREFC) 22 1 NS: SREGE 21327#2(F0) -14 19.37 : 0.63 Total VP: 64.24 Rank:
EW: ME& SERZR(BHO) 14 EW: BEIX F32E(FC) -2 IMP:| 43 6 9
I
» QT932 3NW3 400 Mean: 2SS2 110 7.0 1 [[#2 » K852 3NS-2 200 Mean: 3CE-3 150 6.0 1
¢T3 2DE4 130 -190  2SN2 110 7.0 1 v Q752 4HS-4 400 -100  3DXE-1 100 50 1
¢ 97 Dif: 270 NS:2  3SS-1 50 40 1 *2 Dif: 200 NS:-7 2HS2 110 50 1
» J963 IMP: 7 EW:5 3SN-2 4100 3.0 1 » AQ63 IMP: -5 EW:3 2DE-2 100 50 1
s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
* KQJ532 2NW3 150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
~ A87 3NW3 400 50 1 ||asT9 » K542 2DE2 90 00 2
» J86 3NE3 400 50 1 #¢VAN 4, QT 3NS-2 200 -3.0 1
v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
« A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
» Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
w ~~~~~
a4 4SW4 620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5CXN6 -950 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1-100 -370  4SE-1 100 100 1 v JT2 6CXS6 -1540 320  5CXN6 950 12.0 1
¢ JT543 Dif: 720 NS:10 4HXS-2 300 20 1 ¢ 6532 Dif: 590 NS:15 5SXS5 850 11.0 1
& 852 IMP: 12 EW:6 3HXS-2 300 20 1 & 9542 IMP: 11 EW:-12 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 *9
& AQ3 & AKQT83
& K76532 4HE-1 -50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 2SN4 170 Mean: 4SXN4 590 80 1
v Q84 4HE-1-50 -80  4HE-1 50 40 9 v 7542 2SN3 -140 230  4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: -30 NS:-3 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: -1 EW:2 2SN4 170 2.0 1
» 98 # 9764 'y 2SN3 140 3.0 3
v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ 42 * KQJ95 ¢ T64
» KQ87 » 54 & KJ832
s QT4 ¢ VABN 4, AT2
v2 N ~~~~~ v Q9
¢ AT973 S ~~~~~ ¢ 72
& T954 E ~~~~~ & AQT976
w ~~~~~
a JT7 6DE6 1370 Mean: 6DW-1 100 120 2 ||#38 » QT6 3SS-1 50 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE6 1370 -630  6DE-1 100 120 3 v AQ82 5CXE-4-800 0 3NS3 400 9.0 1
*8 Dif: 0 NS:-12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 850 NS:13 3SS-1 50 20 1
& KJ73 IMP: 0 EW:12 3NW3 600 1.0 1 * IMP: 13 EW:2 3NS-1 50 20 1
a3 5DE6 620 0.0 1 ||a KJ943 a8 2SN-1 50 20 1
+ v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
* KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
S » Q9 » K973 » JT842 3NS-2 4100 30 5
» Q98642 %o VAN 4, A752 3NS-3 150 -4.0 2
w7 N ~~~~~ v J94
¢ Q42 S ~~~~~ ¢ 43
& T62 E ~~~~~ & AQ65
W ~~~~ ~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

9 NS: B 5 2255 (EHC) -33 3 NS: KB AR L (F0) 28 0.00 20.00 | Total VP: 34.71 Rank:
EW: BEEIEE ¥k =(BHO) -28 EW: M E#E 5RIEE(BAC) 33 IMP:| 12 57 14
I I
#1 » QT932 3SN-2 100 Mean: 2SS2 110 7.0 1 [[#2 » K852 3NN-1 100 Mean: 3CE-3 150 6.0 1
¢T3 3NE3 400 -190 2SN2 110 7.0 1 v Q752 3DE3 110 -100  3DXE-1 100 50 1
.97 Dif: -300 NS:-5 3SS-1 -50 40 1 *2 Dif: -10 NS:0 2HS2 110 50 1
» J963 IMP: -7 EW:-3 3SN-2 4100 3.0 1 » AQ63 IMP: 0 EW:0 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 450 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4HXS-2 300 Mean: 4SW-1 100 100 3 ||# 4 s A8 6CXS6 -1540 Mean: 6CXS6 1540 150 2
v QJ65 4SE5 650 -370  4SE-1 100 100 1 v JT2 4HE5 650 320 5CXN6 950 12.0 1
¢ JT543 Dif: -350 NS:-7 4HXS-2 300 20 1 ¢ 6532 Dif: -2190 NS:-14 5SXS5 850 11.0 1
& 852 IMP: -8 EW:-2 3HXS-2 300 20 1 & 9542 IMP: -19 EW:-15 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE-1 -50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN4 -420 Mean: 4SXN4 590 80 1
v Q84 4HE4 420 -80  4HE- 50 40 9 v 7542 4SN-150 230 4SN4 420 50 5
+ K6 Dif: -470 NS:-8 4HWA4 420 -80 1 + A83 Dif: -470 NS:-7 3SN4 170 2.0 1
»J2 IMP: -10 EW:-4 4HE4 420 -80 3 * IMP: -10 EW:-5 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 3NW3 600 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-150 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1-100 -630 6DE-1 100 120 3 v AQ82 3NS-3150 0 3NS3 400 9.0 1
+8 Dif: 700 NS:12 5DE5 600 1.0 1 ¢ AJ9752 Dif: -100 NS:-4 3SS-1 50 20 1
& KJ73 IMP: 12 EW:-1 3NW3 600 1.0 1 * IMP: -3 EW:2 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~ ~~~~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

& AK5

v A9

¢ AJ75

& A854
VAN

NS: BiAM= BEZEEHC) 8 2 NS: %50 ZFAZP(BAO) -16 14.96 : 5.04 Total VP: 87.54 Rank:
EW: R854 o[ ZE(BFHO) 16 EW: Ep & S EA(BAC) -8 IMP:| 27 13 3
I .
» QT932 3DE4 130 Mean: 2SS2 110 7.0 1 [[#2 » K852 2SW2 110 Mean: 3CE-3 150 6.0 1
¢T3 2DE4 130 -190  2SN2 110 7.0 1 v Q752 3DE3 110 -100  3DXE-1 100 50 1
¢ 97 Dif: 0 NS:2 3SS-1 50 40 1 *2 Dif: 0 NS:0 2HS2 110 50 1
» J963 IMP: 0 EW:-2 3SN-2 4100 3.0 1 » AQ63 IMP: 0 EW:0 2DE-2 100 50 1
s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v 76 2DE4 130 20 3 || AJTO I v3 3DE3 4110 0.0 2
* KQJ532 2NW3 150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
~ A87 3NW3 400 50 1 ||asT9 » K542 2DE2 90 00 2
» J86 3NE3 400 50 1 * VAN QT 3NS-2 200 -3.0 1
v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
« A64 S ~~~~~ o+ KT76 4HS-4 400 7.0 1
» Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
w ~~~~~
a4 4SE4 620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5HW-1 -100 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1-100 -370  4SE-1 100 100 1 v JT2 5HE5 650 320 5CXN6 950 12.0 1
¢ JT543 Dif: 720 NS:10 4HXS-2 300 20 1 ¢ 6532 Dif: -750 NS:-14 5SXS5 850 11.0 1
& 852 IMP: 12 EW:6 3HXS-2 300 20 1 & 9542 IMP: -13 EW:6 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 + v KQ964 5CN6 620 7.0 1
¢ Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
& K76532 4HW4 420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN-1 50 Mean: 4SXN4 590 80 1
v Q84 4HE-1-50 -80  4HE-1 50 40 9 v 7542 2SN3 -140 230  4SN4 420 50 5
+ K6 Dif: 470 NS:4 4HW4 420 -80 1 + A83 Dif: 190 NsS:-3 3SN4 170 2.0 1
»J2 IMP: 10 EW:8 4HE4 420 -80 3 * IMP: 5 EW:7 2SN4 170 2.0 1
» 98 # 9764 'y 2SN3 140 3.0 3
v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ 42 * KQJ95 ¢ T64
» KQ87 » 54 & KJ832
s QT4 B¢ VAN 4 AT2
v2 N ~~~~~ v Q9
¢ AT973 S ~~~~~ ¢ 72
& T954 E ~~~~~ » AQT976
w ~~~~~
a JT7 6DW-1-100 Mean: 6DW-1 100 120 2 ||#38 » QT6 3NS-2100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1-100 -630 6DE-1 100 120 3 v AQ82 4S8S-2100 o0 3NS3 400 9.0 1
*8 Dif: 0 NS:12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 0 NS:-3 3SS-1 50 20 1
& KJ73 IMP: 0 EW:-12 3NW3 600 1.0 1 * IMP: 0 EW:3 3NS-1 50 20 1
a3 5DE6 620 0.0 1 ||a KJ943 a8 2SN-1 50 20 1
+ v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
* KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
S » Q9 » K973 » JT842 3NS-2 4100 30 5
» Q98642 %o VAN 4, A752 3NS-3 150 -4.0 2
w7 N ~~~~~ v J9%4
¢ Q42 S ~~~~~ ¢ 43
& T62 E ~~~~~ & AQ65
W ~~~~ ~




112 F< 4 >2FMpERF SR
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3: 10 f¥35(87.54)

1 1 NS: #TFHE BREEEAC) 27 4 NS: 828X BS4#(B0) 14 13.12 : 6.88 Total VP: 100.73 Rank:
EW: @i s BEZEE(BHO) -14 EW: E{Zf& i AC) -2 IMP:| 28 : 20 2
I I
#1 » QT932 2SN2 -110 Mean: 2SS2 110 7.0 1 [[#2 » K852 3DXE-1-100 Mean: 3CE-3 150 6.0 1
¢T3 2SS2 -110 190  2SN2 110 7.0 1 v Q752 2DE2 90 -100  3DXE-1 100 50 1
.97 Dif: 0 NS:7 3SS-1 -50 40 1 *2 Dif: -190 NS:0 2HS2 110 50 1
» J963 IMP: 0 EW:-7 3SN-2 4100 3.0 1 » AQ63 IMP: -5 EW:-5 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 4150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ * Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 3HXS-2 300 Mean: 4SW-1 100 100 3 ||# 4 s A8 5SXS5 -850 Mean: 6CXS6 1540 150 2
v QJ65 4SE4 620 -370  4SE-1 100 100 1 v JT2 5885 -650 320  5CXN6 950 12.0 1
¢ JT543 Dif: -320 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: -200 NS:8 5SXS5 850 11.0 1
& 852 IMP: -8 EW:-2 3HXS-2 300 20 1 & 9542 IMP: -5 EW:-11 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE4 420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 3SN4 -170 Mean: 4SXN4 590 80 1
v Q84 4HE-1-50 -80  4HE-1 50 40 9 v 7542 4SN4 -420 230  4SN4 420 50 5
+ K6 Dif: 470 NS:4 4HW4 420 -80 1 + A83 Dif: 250 NS:5 3SN4 170 2.0 1
»J2 IMP: 10 EW:8 4HE4 420 -80 3 * IMP: 6 EW:2 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 5DE5 600 Mean: 6DW-1 100 120 2 [|#8 » QT6 2SN-1 50 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE-1-100 -630 6DE-1 100 120 3 v AQ82 3NS-2100 o0 3NS3 400 9.0 1
+8 Dif: 700 NS:12 5DE5 600 1.0 1 ¢ AJ9752 Dif: -50 NS:-3 3SS-1 50 20 1
& KJ73 IMP: 12 EW:-1 3NW3 600 1.0 1 * IMP: -2 EW:2 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~
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#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

1 2 NS: f3{FE #HFEBEEC) -1 6 NS: BRE S BRZE#7(BO) -17 13.12 : 6.88 Total VP: 72.97 Rank:
EW: ZEREIR SRE/KEHO) 17 EW: ki B335(BAC) 1 IMP:| 26 18 6
I I —
#1 » QT932 3NW4 430 Mean: 2SS2 110 7.0 1 [[#2 » K852 2DE2 90 Mean: 3CE-3 150 6.0 1
¢T3 3SS-150 -190 2SN2 110 7.0 1 v Q752 2DE-2 -100 -100  3DXE-1 100 50 1
.97 Dif: 380 NS:4 3SS-1 -50 40 1 *2 Dif: 190 NS:5 2HS2 110 50 1
» J963 IMP: 9 EW:6 3SN-2 4100 3.0 1 » AQ63 IMP: 5 EW:0 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 450 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4SW4 620 Mean: 4SW-1 100 100 3 ||# 4 s A8 4HWS5 650 Mean: 6CXS6 1540 150 2
v QJ65 4SW-1-100 -370 4SE-1 100 100 1 v JT2 5HE5 650 320 5CXN6 950 12.0 1
¢ JT543 Dif: 720 NS:10 4HXS-2 300 20 1 ¢ 6532 Dif: 0 NS:-14 5SXS5 850 11.0 1
& 852 IMP: 12 EW:6 3HXS-2 300 20 1 & 9542 IMP: 0 EW:14 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 a7 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE-1 -50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SXN4 -590 Mean: 4SXN4 590 80 1
v Q84 4HW-1-50 -80  4HE-1 50 40 9 v 7542 4SN4 -420 230  4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: -170 NS:5 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: -5 EW:-8 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
o ¢VABN ,QT4 ¢ VABN 4, AT2
N ~~~~~ v2 N ~~~~~ v Q9
§ ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ * AQT976
W ~~~~~ W ~~~~~
#7 » JT7 5DE6 620 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-2100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DE6 1370 -630  6DE-1 100 120 3 v AQ82 4NS-2100 © 3NS3 400 9.0 1
+8 Dif: -750 NS:-12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 0 NS:-3 3SS-1 50 20 1
& KJ73 IMP: -13 EW:0 3NW3 600 1.0 1 * IMP: 0 EW:3 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 a8 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~ ~~~~




112 F< 4 >2FMpERF SR

® ==> RT

#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

1 3 NS: 22T EHEZEAC) 10 5 NS: ieE28 BRE5(FH0) -4 19.74 : 0.26 Total VP: 108.81 Rank:
EW: E&H 2k /51EEF0) 41 EW: EEER E#&IEEAC) 1 IMP:| 47 7 1
I I
#1 » QT932 3NW4 430 Mean: 2SS2 110 7.0 1 [[#2 » K852 4HN-3 300 Mean: 3CE-3 150 6.0 1
¢T3 3NW4 430 -190 2SN2 110 7.0 1 v Q752 3CE-3-150 -100  3DXE-1 100 50 1
.97 Dif: 0 NS:-6 3SS-1 -50 40 1 *2 Dif: 450 NS:6 2HS2 110 50 1
» J963 IMP: 0 EW:6 3SN-2 4100 3.0 1 » AQ63 IMP: 10 EW:5 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 4150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4SW4 620 Mean: 4SW-1 100 100 3 ||# 4 s A8 5HW-1-100 Mean: 6CXS6 1540 150 2
v QJ65 4SW4 620 -370  4SE-1 100 100 1 v JT2 5HW-1-100 320 5CXN6 950 12.0 1
¢ JT543 Dif: 0 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: 0 NS:-6 5SXS5 850 11.0 1
& 852 IMP: 0 EW:6 3HXS-2 300 20 1 & 9542 IMP: 0 EW:6 5SS5 650 8.0 1
» QJ98 4sw4 620 -60 5 » Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE4 420 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN4 -420 Mean: 4SXN4 590 80 1
v Q84 4HE-1-50 -80  4HE-1 50 40 9 v 7542 2SN3 -140 230  4SN4 420 50 5
+ K6 Dif: 470 NS:4 4HW4 420 -80 1 + A83 Dif: -280 NS:-3 3SN4 170 2.0 1
»J2 IMP: 10 EW:8 4HE4 420 -80 3 * IMP: -7 EW:-5 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
* VAN 4,QT4 B+ VAN 4 AT2
N ~~~~~ v2 N ~~~~~ v Q9
S ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ & AQT976
W ~~~~~ W ~~~~~
#7 » JT7 6DE6 1370 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-2100 Mean: 5CXE-4 800 13.0 1
v Q8632 6DW-1-100 -630 6DE-1 100 120 3 v AQ82 3NS3-400 o0 3NS3 400 9.0 1
+8 Dif: 1470 NS:12 5DE5 600 1.0 1 ¢ AJ9752 Dif: 500 NS:9 3SS-1 50 20 1
& KJ73 IMP: 16 EW:12 3NW3 600 1.0 1 * IMP: 11 EW:3  3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 'y 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~




112 F< 4 >2FMpERF SR

® ==> RT

#1: 13 JIEH (108.81) #2: 11 ,u,uz,%(loo 73) #3 10 FE98(87.54)

1 4 NS: FiEsl BEE=EIC) -3 7 NS: GBS RiENS(BO) 7 7.95 12.05| Total VP: 64.69 Rank:
EW: BN =EZ=EEH0) -7 EW: [R5 #E =E{_(BAC) 3 IMP:| 22 27 8
I
#1 » QT932 2DE4 130 Mean: 2SS2 110 7.0 1 [[#2 » K852 2HS2 -110 Mean: 3CE-3 150 6.0 1
¢T3 2NW3 150 -190  2SN2 110 7.0 1 v Q752 3DXE3 470 -100  3DXE-1 100 50 1
.97 Dif: -20 NS:1  3SS-1 -50 40 1 *2 Dif: -580 NS:-9 2HS2 110 50 1
» J963 IMP: -1 EW:-2 3SN-2 4100 3.0 1 » AQ63 IMP: -11 EW:-5 2DE-2 100 50 1
& K75 s A4 3DE4 130 20 1 ||a AJO74 # 63 3NN-1 100 0.0 1
v Q954 v 76 2DE4 130 20 3 ||v AJT9 I v3 3DE3 4110 0.0 2
¢ T8 * KQJ532 2NW3 4150 1.0 1 ||e J3 + AQ9854 25W2 4110 0.0 1
& KT54 ~ A87 3NW3 400 50 1 ||a&T9 » K542 2DE2 90 00 2
®+VAOSN 4 J86 3NE3 400 -50 1 *eVAN ,QT 3NS-2 200 -3.0 1
N ~~~~~ v AKJ82 3NW4 430 60 3 |IN ~~~~~ v K864 4HN-3 300 -5.0 1
S ~~~~~ « A64 S ~~~~~ ¢ KT76 4HS-4 400 7.0 1
E ~~~~~ » Q2 E ~~~~~ » J87 3DXE3 470 9.0 1
W ~~~~~ W ~~~~~
#3 a4 4SE-1-100 Mean: 4SW-1 100 100 3 ||# 4 s A8 4SS5 -650 Mean: 6CXS6 1540 150 2
v QJ65 4SW4 620 -370 4SE-1 100 100 1 v JT2 5CN6 -620 320 5CXN6 950 12.0 1
¢ JT543 Dif: -720 NS:-6 4HXS-2 300 20 1 ¢ 6532 Dif: -30 NS:7 5SXS5 850 11.0 1
& 852 IMP: -12 EW:-10 3HXS-2 300 20 1 & 9542 IMP: -1 EW:-8 5SS5 650 8.0 1
~ QJ983 4SW4 620 -60 5 ~ Q9 4SS5 650 8.0 1
v A8 4SE4 620 -6.0 2 _|_ v KQ964 5CN6 620 7.0 1
+Q 4SE5 650 7.0 1 + KQT84 5HW-1 100 6.0 3
» T9764 5HE5 650 140 2
& A652 & KT6532 4HW5 -650 -14.0 1
v T932 v 4HES5 650 -14.0 1
¢ 62 9
& AQ3 & AKQT83
#5 & K76532 4HE-1 -50 Mean: 4HW-1 50 40 1 #6 4 KQJ853 4SN-1 50 Mean: 4SXN4 590 80 1
v Q84 4HE-1-50 -80  4HE-1 50 40 9 v 7542 4SN4 -420 230  4SN4 420 50 5
+ K6 Dif: 0 NS:4 4HW4 420 -80 1 + A83 Dif: 470 NS:5 3SN4 170 2.0 1
»J2 IMP: 0 EW:-4 4HE4 420 -80 3 * IMP: 10 EW:7 2SN4 170 2.0 1
s AJ » 98 & 9764 'y 2SN3 140 3.0 3
v KT96 v AJ753 v J8 — v AKT63 4SN-1 -50 70 3
¢ QJ85 ¢ 42 * KQJ95 ¢ T64
& A63 » KQ87 » 54 & KJ832
* VAN 4,QT4 B+ VAN 4 AT2
N ~~~~~ v2 N ~~~~~ v Q9
S ~~~~~ ¢ AT973 S ~~~~~ ¢ 72
E ~~~~~ & T954 E ~~~~~ & AQT976
W ~~~~~ W ~~~~~
#7 » JT7 6DE6 1370 Mean: 6DW-1 100 120 2 [|#8 » QT6 3NS-2100 Mean: 5CXE-4 800 13.0 1
v Q8632 4HWS5 650 -630  6DE-1 100 120 3 v AQ82 3NS-3150 0 3NS3 400 9.0 1
+8 Dif: 720 NS:-1  5DE5 600 1.0 1 ¢ AJ9752 Dif: -50 NS:-4 3SS-1 50 20 1
& KJ73 IMP: 12 EW:12 3NW3 600 1.0 1 * IMP: -2 EW:3 3NS-1 50 20 1
& AK5 a3 5DE6 620 00 1 ||a KJ943 'y 2SN-1 50 20 1
v A9 + v KJT54 4HW5 650 1.0 1 ||e T7 v K653 48S-2 4100 -3.0 1
¢ AJ75 * KT963 6DE6 1370 -12.0 5 ||e T8 + KQ6 4NS-2 100 -3.0 1
& A854 S » Q9 » K973 » JT842 3NS-2 4100 -30 5
% ¢ VAN ,QI8642 %o VAN 4, A752 3NS-3 150 -4.0 2
N ~~~~~ w7 N ~~~~~ v J94
S ~~~~~ + Q42 S ~~~~~ ¢ 43
E ~~~~~ & T62 E ~~~~~ & AQ65
W ~~~~~ W ~~~~~




